FTHE3A KIRERAERR

'A% | o | VERRE [ 1EERE | 2% W =4 BRI B, & L<ILCON8RFRI T i
mE | A% | BY | o | o | g | S0 | BFOEARDEERALE | Moz r-mmy .| =mo
. B | T el | &IEE| E EﬂE'JE"f;ﬂ JEFERL X
A REEAE
E RIEEE #HBZ1-
& B |mspg | PP, | PPm | Pem | ppm 10 | 0.06 [0.04 [0.12| 01 [ 20 | 0.1 |0.06]0.12 p(:)':q ﬁié a | 219
T mg/m® | mg/m® | mg/m® | mg/m®| PP™ | ppm | ppm | ppm | ppm [ mg/m®| ppm | ppm | pom [ pPPm mg/m’ = §
—fgiEEHRNO | 31 731 | 0.001 | 0.023 | 0.000 0.004
“Egt=HEN02| 31 731 | 0.012 | 0.061 | 0.002 0.028 0 0 0 0 (@)
EHEENOX| 31 731 | 0.013 | 0.071 | 0.002 0.033
K #ﬁ*”%qﬂ?é 31 | 743 | 0012 | 0077 | 0.000 | 0.027 0 0 0 o o
sl SPM(mg/m®)
VEDZ WINe) 4 34
(555 ~ 208%) 31 461 | 0.039 | 0.075 | 0.002 0 0 @l ° x
ZEg{ERRES02| 31 735 | 0.001 | 0.005 | 0.000 | 0.001 0 0 @) @) ©)
—FbRECO | 31 736 | 03 0.7 0.2 0.4 0 0 O O O
—Ff{LZEHRNO | 31 735 | 0.002 | 0.032 | 0.000 0.007
+- | =BREE=ERNO2| 31 735 | 0.014 | 0.068 | 0.002 0.034 0 0 0 0 O
D | Z%ELYINOX]| 31 735 | 0.016 | 0.082 | 0.002 0.041
%3 P,
FERTRYE
SPM(mg/m®) 31 743 | 0014 | 0.084 | 0.000 | 0.032 0 0 O O O
—BIEZERNO | 31 735 | 0.003 | 0.033 | 0.000 0.007
- ZEEZERNO2| 31 735 | 0.015 | 0.064 | 0.002 0.034 0 0 0 0 @)
= | ERBEYNOX| 31 | 735 | 0018 | 0077 | 0.002 0.042
FERTFRYE
SPM(mg/m®) 31 743 | 0013 | 0.077 | 0.000 | 0.030 0 0 O O O
—HIEZERNO | 31 735 | 0.002 | 0.036 | 0.000 0.008
ZHIEZERNO2| 31 735 | 0.016 | 0.065 | 0.002 0.034 0 0 0 0 O
i"ﬁ go
g | ERBIEYNOX| 31 | 735 | 0018 | 0.076 | 0.002 0.041
FERTRYE
SPM(mg/m®) 31 743 | 0014 | 0.092 | 0.000 | 0.031 0 0 O O O
* A XA UM )AIX0.06ppmEFEZ-B
3 = BiE | BE | AE | 1EED | 1EED
A= f®AH Ak | B | o | BsE | BEE
B M 31 741 | NNE
EE(m/s) 31 741 1.7 5.7 0.2
=D& -
& ECe) 31 744 | 109 25.4 0.7
2 E(%) 31 744 | 620 97 11




